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B (1l 17— 45 45 10.8 34.2|50 > F LT L E
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3 | A = 37 37 2.4 34.6|E° G425 RIA/3—

4 |H i} B % 37 37 2.4 34.6|FHAFBAEYH

5 &  #F SR ] 43 43 8.4 34.6 [MEPEMIRE O B0

6 |4 H = 36 36 1.2 38| mk ARy 2R

7% R g H 40 40 4.8 3D.2|BEEEDH

8 [k Jt = & 40 40 4.8 35.2|F] =12
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10 |[&E K gE 39 39 3.6 35.4[FARVAL RAR RS

1 |%E L oz 44 44 8.4 35.6| TANITA IfJEZf

12 | @ B B 50 50 14.4 35.6

13 /N B w1 42 42 6 36

14 | B A %E T 41 41 4.8 36.2

15 |f = BE BB 47 47 10.8 36.2|T-Fal kv

16 S if 40 40 3.6 36.4

7 |8 K w5 52 52 15.6 36.4

18 (B U B B 38 38 1.2 36.8

19 |&F M st 44 44 7.2 36.8

20 (N E w R 44 44 7.2 36.8| KT —H

21 [ i 5t 43 43 6 37

22 |#% K T 43 43 6 37| B AT 2 —A

23 |A (i G 43 43 6 37

24 |l B o E 43 43 6 37

25 (B4 N & 49 49 12 3T|ZARNIAR o

26 | * &z 42 42 4.8 37.2

27 (B Kk w3k 42 42 4.8 37.2

28 [ i1 w1 48 48 10.8 37.2

29 (B E = M = 48 48 10.8 37.2

30 |H i H O o# 41 41 3.6 374y 7L —h

31 |7 i fid 47 47 9.6 37.4
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33 | B E = 53 53 15.6 37.4|7 97 vxAfR—
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37 | R A & 46 46 8.4 37.6
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56 |t i 5F 43 43 4.8 38.2

57 |/ #F R 43 43 4.8 38.2
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65 | 1] D' o} 55 55 16.8 38.2| Ak
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82 [#f (i AT 58 58 19.2 38.8

83 [+ K ¥ R 39 39 0 39

84 [k M IS 45 45 6 39

85 [ i1 i = 45 45 6 39| Z AN AR R—F

86 |H (™ (S 45 45 6 39
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88 |- = 5L F 51 51 12 39|BL 154

89 |h K H X F 51 51 12 39

0 (K % B E x 1 51 51 12 397V RIK PEshAE 30001
91 |¥ A F 57 57 18 39

92 |5 % s} 44 44 4.8 39.2

93 |[iE ik o 50 50 10.8 39.2

94 |H =  F 50 50 10.8 39.2

95 Il | woFE 50 50 10.8 39.2[VEHE TV b
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102 | #® E 5L 48 48 8.4 39.6

103 [# R & m 48 48 8.4 39.6

104 |4t M [E3) 54 54 14.4 39.6

105 |® % oA 54 54 14.4 39.6|ZARUAL R—F
106 (A R w8 47 47 7.2 39.8

107 [ Ak Bk 53 53 13.2 39.8

08 |+ B B — 53 53 13.2 39.8

109 [N K OB 53 53 13.2 39.8

1o | ;oA 46 46 6 40(#f 158

11 |+ = = 46 46 6 40|17 T TR
12 (% x m #H £ 46 46 6 40

113 |85 AR e 52 52 12 40

14 |= R ® A 52 0 52 12 40

115 (£ b & F & 58 58 18 40|VREE T b
116 | 8 E % 45 45 4.8 40.2

17 | iE A 45 45 4.8 40.2

118 [ fif] T X 51 51 10.8 40.2

19 | B = 44 44 3.6 40.4

120 |2 K ESHE 44 44 3.6 40.4|FAZ—RF (¥ —
121 |l I Nl 50 50 9.6 40.4

122 |F H wmo % 50 50 9.6 40.4

123 [ A IE &k 50 50 9.6 40.4

124 | L= il 50 50 9.6 40.4

125 |H AR e 56 56 15.6 40.4| DT EFEEEY R
126 |H 2 [ 56 56 15.6 40.4

127 s E K 56 56 15.6 40.4

128 [k @& = ] 49 49 8.4 40.6

129 | E S 49 0 49 8.4 40.6

130 |# 1] b #h 48 48 7.2 40.8|hy /L —RY— 83— T LA E—
131 & L7 48 48 7.2 40.8

132 |3 M & 48 48 7.2 40.8

133 [H o (L3S 54 54 13.2 40.8

134 |k % =+ 54 54 13.2 40.8

135 |m WE M — KR 54 54 13.2 40 8|BEW RN T 4— o) —F—
136 |# Ji B E T 47 47 6 41

137 |#&% M HZ 40 40 -1.2 41.2

138 |3 bLa" & 58 58 16.8 41.2
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140 |& I e 45 45 3.6 414N AR F R AT—T — R
141 |fF E * 51 51 9.6 41.4

142 (@i m € R F 51 51 9.6 41.4
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148 ¥ B CI S 55 55 13.2 41.8
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154 £ K MR 61 61 18 43
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156 W&k T B 2 64 64 20.4 43.6
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U 5 S R R 45 45 8.4 36.6|AXAIL A va—R




